y
Ff yy
0.1

tI

¥
2.1

S % (v3/2 - SE-3)

I

@ B, 75 = 0.015F/I

@ C, 7, = 0.015F/ + 0.2 x E_’SO;IZ_XF_
7. = 0.055F/1
F. = (0.015? + 0.055 %) £ %02t
- 7E-3 Ryl
_ TE-3 Ft _
0.0333t
CD
0.055F _ F
T = + — [(0.2d¢.t) * 0.2cos
=« - [02d0) ¢
0.05SF _ F

= - x 004 [sing]®
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1]
|

F .
=T f [0.055 + 0.04sing] 0.2 d¢p * t

%F—‘ [0.055¢ - 0.04cosd]]

0.2Ft
0.0333t

{(0.055® + 0.04) = (0 - 0.04)}

Fop = 00506 FyI = 1518 F

Moms abt 0

SN —
FA = (0.02F * 0.2 + 021 F * 0.2) * 2 + 1.518F = 0.2

A = 0.396

Tb.  Ina = 0.016t + 1.667E-4t + 0.1t x 0.252 x 2 + 0.01257t

Iya=0.0412 t
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fydA = f tdy.y
0.2
2
_ ¢+ |Y _t 2
t|Z| == [y* - 009
nydA 0.5 Ft
T = = = - 0.09
T T O )
0.5Ft |y? ?
Fp = [ctdy - —I—t r . 0.09y[
.3
0.5Ft

== [(-153E-2) - (-1.8E-2)
F,, = 135E-3 FyI

@B, |ydA = 0.1tx 0.25 = 0.025t

@ C, | ydA = 0.025t + 0.04t = 0.065t

5 = 0.025F/I

7c = 0.065F/I

Fpc = 9E-3FYI
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f ydA = 0.065t + 0.04tsind
F :
Ty = 7(0.065 + 0.04sin¢)
Fop = f 7, - 0.2d¢t
0
- g [0.065¢ - 0.04cosd]
- Q?_‘ [(0.065% + 0.04) - (0 - 0.04)]
Fo, = 0.0568 FyI
M.oms abot 0
FA = ? [- 1.35E-3 x 02 x2 +9E-3x 02 x 2 + 0.0568 x 0.2]
Ft .
= [-5.4E-4 + 3.6E-3 + 0.01136]
0.0412t
A =032m
8. ,
——0_0- | m. s O-lm
S
c Bt
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« = tan”! (0.05/0.2) = 14.04°
0.206 3
I=2x f t.ds, (s,;sine)®> + 0.1 x t x 0.05%x 2 + f (tRd¢) Rcosd)®
0 0
3 206 13
S1 3 2
- 01176t |+ SE-4t + R f cos? ¢ do
0
= (342TE-4 + 5E-4 + R* [ —[l-f—;Lm do)t
0
3 .
- |8.427E-4 + 005 |4 , sin20
2 2
I = 1.039E-3t
AB
F .
Ty = i f (tds,) s, sinc
2
- F x02426 |2 - 1167582 ¢
1.039E-3t —1=
Ty = 4.95K/t
BC

as ’t’ is uniform
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5
495F F
R { (t.ds,) * 0.05
495F  48.12Fs,
t, = +
t t
t. = 9.76FI

CD as ’t’ is uniform

¢
9.76F F
T, = + — t.R.d$) Rcos
R {( ¢) Reosd
9.76F FR?2 .. .=
= + sin
t 1.04E—3t[ ®lo
Ty = 9.76F + 2.4O4sind).E
t
. = ft.ds
{ds
but,

$ ds = 0.206x2 +0.1x0.2 + 7x0.05 = 0.769 m
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0.206

fr.ds = 2x f
0

116.8Fs;
— &

0.1
48.12Fs
+2x f (4.95F . 2) .dsz

oLt 1

( 9.76F

L+ 2.4sin9 ?) 0.05 * dd

+
o— a

3 .206 2 0.1
48.12Fs
233.6F 151, oo 2 2]
t 3 t t Jo

_ [0.488F¢ _ 0.12Fcosd>];t
t t

= % (0.681 + 0.99 + 0.481 + 1.533 + 0.24)

= 3.925F/t
-3.925F 1
Ty = X
t 0.769
T, = =3.104F/t
Moms abot "0"

F(A+R) =2x [ [, + 116.8 Fs;¥/t] * t ds, * 0.3

cos o * tan «o

0.1
48.12FS
£2 [ g+ (4951: e 2)] tds, * 0.0
0

t
. j{ro . ( 9'7tGF £ 24 % sind))} 0.05%.dd.t
0

or
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510206
116.8s;
F(A) = 0.6F |-5.104s, + 3 x 0.243
L

21
+0.1F ~5.104s2 + 4.95s2 + 48.12 %I

A = 0.05% F [-5.1041 + 9.76¢ - 2.4cosd];
= 0.146(-1.051 + 0.34) + 0.1[-0.51 + 0.495 + 0.241]

+ 0.05[-16.03 + 30.66 + 4.8]

-0.104 + 0.023 + 0.049 = -0.032 m

I

A =-0032m
9.
f——02m——
—B
a —
[o.4
O-2m —]
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o = tan™! (0.05/0.2) = 14.04°
0.206
1=2 [ (tds) . (s;sina) ds,
0

+2x02xtx 005 + f tR.dd (Rcosd)?
0

410206
2 5
=3 x 0.05886 3 t + 1.963E-4t

I = 3.43E-4t + 1E-3t + 1.963E-4t

I = 1.539E-3t

§1 2
_F . _F|S1] ..

Ty = I { (s,-sina).tds, = 1 -2—[ sina
7, = 78.82 Fs %/t
15 = 3.345F/t
BC
As "t" is constant

3345F F K

T, = — + — [ tds, * 0.05

2 ; i { 2

T, = 3.345F + 32.49Fs,/t

T, = 9.84Lt
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_ 9.84F |
‘C¢ = "

=|m

@
f [R.dd.t) Reosd
0

o L OB4E 162 g
¢ t t

-ftds
fds

$ ds =0.206x2 +0.2x2 + 7wx0.05

= 0.969 m

0206 FSZ
frods =2 [ 7882 — . ds,
t
0

+

0.2 n
E (3.345 + 32.49s.)) ds, + —I-:— (9.84 + 1.62sind) * 0.05dd
t ¥y

0o - 0

% [53]2.206 . _2;

157.64

2 .2
32.49s;
3.34552 + —2—

+

0.05 5:- 9.84¢ - 1.62cosd]}

E 046 + 2636 + 171) = 4.8F1
t

T, = —4.8 E,_1
t 0.969
Ty = -4.96 F/t
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